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QUESTION 1

Identify three valid methods of opening, pluggable databases (PDBSs).

A. ALTER PLUGGABLE DATABASE OPEN ALL ISSUED from the root

B. ALTER PLUGGABLE DATABASE OPEN ALL ISSUED from a PDB

C. ALTER PLUGGABLE DATABASE PDB OPEN issued from the seed

D. ALTER DATABASE PDB OPEN issued from the root

E. ALTER DATABASE OPEN issued from that PDB

F. ALTER PLUGGABLE DATABASE PDB OPEN issued from another PDB

G. ALTER PLUGGABLE DATABASE OPEN issued from that PDB

Correct Answer: AEG

E: You can perform all ALTER PLUGGABLE DATABASE tasks by connecting to a PDB and running the corresponding
ALTER DATABASE statement. This functionality is provided to maintain backward compatibility for applications that
have been migrated to a CDB environment.

A, G: When you issue an ALTER PLUGGABLE DATABASE OPEN statement, READ WRITE is the default unless a
PDB being opened belongs to a CDB that is used as a physical standby database, in which case READ ONLY is the
default.

You can specify which PDBs to modify in the following ways: List one or more PDBs.

Specify ALL to modify all of the PDBs.

Specify ALL EXCEPT to modify all of the PDBs, except for the PDBs listed.

QUESTION 2

On your Oracle 12c database, you issue the following commands to create indexes:

SQL> CREATE INDEX oe.ord_customer_ix1 ON oe.orders (customer_id, sales_rep_id);

SQL> CREATE BITMAP INDEX oe.ord_customer_ix2 ON oe.orders (customer_id, sales_rep_id);
Which statement is correct?

A. Only the ORD_CUSTOMER_IX1 index is created and it is visible.

B. Both the indexes are created and both of them are visible.

C. Both the indexes are created; however, only the ORD_CUSTOMER_IX1 index is visible.

D. Both the indexes are created; however, only the ORD_CUSTOMER_IX2 index is visible.

Correct Answer: D
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QUESTION 3

Your multitenant container database (CDB) contains several pluggable databases (PDBs).
A common user C##A_ADMIN, is created with connect privileges.

You execute this command from the root container:

SQL> GRANT create tablespace to C##A_ADMIN;

Which statement is true?

A. The command executes successfully, enabling the C##A_ADMIN user to create a tablespace only in the root
container.

B. The command fails because the CONTAINER=ALL clause is not used.

C. The command executes successfully, enabling the C##A_ADMIN user to create tablespaces in the root container as
well as in the PDBs.

D. The command fails because the CONTAINER=CURRENT clause is not used.

Correct Answer: C

QUESTION 4

Your multitenant container database (CDB) contains two pluggable databases (PDBs).
Which three tools can be used to add a new PDB to the CDB? (Choose three.)

A. Enterprise Manager Cloud Control

B. SQL Developer

C. Database Upgrade Assistant (DBUA)

D. Database Configuration Assistant (DBCA)

E. Oracle Universal Installer (OUI)

Correct Answer: ABD

QUESTION 5

You execute a DROP USER CASCADE on an Oracle 11g release 1 database and immediately realized that you forgot
to copy the OCA.EXAM_RESULTS table to the OCP schema.

RECYCLE_BIN was enabled before the DROP USER was executed and the OCP user has been granted the
FLASHBACK ANY TABLE system privilege.

What is the quickest way to recover the contents of the OCA.EXAM_RESULTS table to the OCP schema?
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A. Execute FLASHBACK TABLE OCA.EXAM_RESULTS TO BEFORE DROP RENAME TO OCP.EXAM_RESULTS;
connected as SYSTEM.

B. Recover the table using traditional Tablespace Point In Time Recovery.
C. Recovery the table using Database Point In Time Recovery.

D. Execute FLASHBACK TABLE OCA.EXAM_RESULTS TO BEFORE DROP RENAME TO EXAM_RESULTS;
connected as the OCP user.

Correct Answer: D
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